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Course outline

How to access the
portal

Week 01 - Numbers,
Functions, Sequencs
and Limits of
Functions

Week- 02-Continuity,
Derivative, Maxima
and Minima and
Taylor's expansion

Week 03-Integration
Of Real Functions

Unit 4 - Week - 04 -
Function of Two
Variables, Limits,
Continuity,
Differentiability,
Unconstrained and
Constrained
minimization

Week - 05 - Infinite
Series, Multiple
Integrals

Lecture 19 -
Functions of Two or
More Variables

Lecture 20 - Limits
And Continuity Of
Functions Of Two
Variables

Lecture 21 -
Differentiation Of
Functions Of Two
Variables - 1

Lecture 22 -
Differentiation Of
Functions Of Two
Variables - 2

Lecture 23 -
Unconstrained
Minimization Of
Funtions Of Two
Variables

Lecture 24 -
Constrained
Minimization And
Lagrange Multiplier
Rules

Quiz : Assignment-4

Assignment-4
Solution

Due on 2017-02-21, 23:59 IST.

1 point1)

1 point2)

1 point3)

1 point4)

Assignment-4
The due date for submitting this assignment has passed.
As per our records you have not submitted this assignment.

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

𝑇ℎ𝑒 𝑑𝑜𝑚𝑎𝑖𝑛 𝑜𝑓 𝑡ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥) =  𝑖𝑠2 − 𝑥‾‾√‾ ‾‾‾‾‾‾√

{𝑥 ∈ ℝ : 𝑥 ≥ 0}.

{𝑥 ∈ ℝ : 𝑥 ≤ 4}.

{𝑥 ∈ ℝ : 0 ≤ 𝑥 ≤ 4}.

{𝑥 ∈ ℝ : 0 ≤ 𝑥 ≤ 2}.

{𝑥 ∈ ℝ : 0 ≤ 𝑥 ≤ 4}.

𝑇ℎ𝑒 𝑟𝑎𝑛𝑔𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥, 𝑦) =  𝑖𝑠 𝑔𝑖𝑣𝑒𝑛 𝑏𝑦𝑒
− 1

𝑥𝑦

[0, ∞).

[1, ∞).

(0, ∞).

[0, 1].

[0, ∞).

=lim
(𝑥,𝑦)→(0,0)

sin 𝑥𝑒𝑦

𝑥

𝑢𝑛𝑑𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑒𝑑.

0.

1.

𝑒.

1.

𝑇ℎ𝑒 𝑝𝑜𝑖𝑛𝑡 𝑜𝑓 𝑑𝑖𝑠𝑐𝑜𝑛𝑡𝑖𝑛𝑢𝑖𝑡𝑖𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥, 𝑦) = sin( ) 𝑎𝑟𝑒
1

𝑥𝑦

https://onlinecourses-archive.nptel.ac.in/
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/course
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/announcements
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/course
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/forum
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/student/home
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/unit?unit=42&lesson=43
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/unit?unit=42&lesson=44
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/unit?unit=42&lesson=45
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/unit?unit=42&lesson=46
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/unit?unit=42&lesson=47
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/unit?unit=42&lesson=48
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/assessment?name=49
https://onlinecourses-archive.nptel.ac.in/noc17_hs04/unit?unit=42&lesson=59
https://www.facebook.com/NPTELNoc/
https://twitter.com/nptelindia
https://www.youtube.com/user/nptelhrd
https://www.linkedin.com/company/nptel/
https://plus.google.com/u/0/+nptelhrd


22/07/2020 Basic Calculus for Engineers, Scientists and Economists - - Unit 5 - Unit 4 - Week - 04 - Function of Two Variables, …

https://onlinecourses-archive.nptel.ac.in/noc17_hs04/unit?unit=42&assessment=49 2/3

 

1 point5)

1 point6)

0 points7)

1 point8)

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

{(𝑥, 𝑦) ∈ : 𝑥 ≠ 0,  𝑦 ≠ 0}.ℝ2

{(𝑥, 𝑦) ∈ : 𝑥 = 0} ∪ {(𝑥, 𝑦) ∈ : 𝑦 = 0}.ℝ2 ℝ2

{(𝑥, 𝑦) ∈ : 𝑥 = 0,  𝑦 = 0}.ℝ2

{(𝑥, 𝑦) ∈ : −1 ≤ 𝑥 ≤ 1,   − 1 ≤ 𝑦 ≤ 1}.ℝ2

{(𝑥, 𝑦) ∈ : 𝑥 = 0} ∪ {(𝑥, 𝑦) ∈ : 𝑦 = 0}.ℝ2 ℝ2

𝐹 𝑜𝑟 𝑡ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥, 𝑦, 𝑧) = (𝑥𝑦𝑧)sin−1

= − .
∂𝑓

∂𝑥

𝑦𝑧

1−𝑥2𝑦2𝑧2√

= .
∂𝑓

∂𝑦

𝑥𝑧

1−𝑥2𝑦2𝑧2√

= .
∂𝑓

∂𝑧

𝑦𝑥

1+𝑥2𝑦2𝑧2√

= − .
∂𝑓

∂𝑥

𝑦𝑧

1−𝑥2𝑦2𝑧2

= .
∂𝑓

∂𝑦

𝑥𝑧

1−𝑥2𝑦2𝑧2√

𝐿𝑒𝑡 𝑤 = 2𝑦 − 𝑙𝑛𝑧,  𝑥 = 𝑙𝑛( + 1),  𝑦 = 𝑡,  𝑧 = ,  𝑡ℎ𝑒𝑛   𝑎𝑡 𝑡 = 1 𝑖𝑠𝑒𝑥 𝑡2 tan−1 𝑒𝑡 𝑑𝑤

𝑑𝑡

𝜋/2 + 1.

𝜋 + 2.

𝜋/2 + 2.

𝜋 + 1.

𝜋 + 1.

𝑇ℎ𝑒 𝑑𝑒𝑟𝑖𝑣𝑎𝑡𝑖𝑣𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥, 𝑦) = 𝑥𝑦 + 𝑦𝑧 + 𝑧𝑥 𝑎𝑡 (1, −1, 2) 𝑖𝑛 𝑡ℎ𝑒 𝑑𝑖𝑟𝑒𝑐𝑡𝑖𝑜𝑛 𝑜𝑓 𝑃 = 3 + 6 − 2  𝑖𝑖 ̂  𝑗 ̂  𝑘̂ 

3.

2.

1.

0.

3.

𝑇ℎ𝑒 𝑑𝑖𝑟𝑒𝑐𝑡𝑖𝑜𝑛 𝑖𝑛 𝑤ℎ𝑖𝑐ℎ 𝑡ℎ𝑒 𝑑𝑖𝑟𝑒𝑐𝑡𝑖𝑜𝑛𝑎𝑙 𝑑𝑒𝑟𝑖𝑣𝑎𝑡𝑖𝑣𝑒 𝑜𝑓 𝑓(𝑥, 𝑦) = + 𝑥𝑦 +  𝑎𝑡 (0, 1) 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 𝑧𝑒𝑟𝑜 𝑖𝑠 𝑔𝑖𝑣𝑥2 𝑦2

+ .𝑖 ̂  𝑗 ̂ 

− .𝑖 ̂  𝑗 ̂ 
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1 point9)

0 points10)

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

2 − .𝑖 ̂  𝑗 ̂ 

2 + .𝑖 ̂  𝑗 ̂ 

2 − .𝑖 ̂  𝑗 ̂ 

𝐹 𝑜𝑟 𝑡ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥, 𝑦) = − − 2𝑥𝑦 + 6𝑥3 𝑦3

(0, 0) 𝑖𝑠 𝑎 𝑙𝑜𝑐𝑎𝑙 𝑚𝑖𝑛𝑖𝑚𝑖𝑧𝑒𝑟.

(−2/3, 2/3) 𝑖𝑠 𝑎 𝑙𝑜𝑐𝑎𝑙 𝑚𝑖𝑛𝑖𝑚𝑖𝑧𝑒𝑟.

(−2/3, 2/3) 𝑖𝑠 𝑎 𝑙𝑜𝑐𝑎𝑙 𝑚𝑎𝑥𝑖𝑚𝑖𝑧𝑒𝑟.

(0, 0) 𝑖𝑠 𝑎 𝑙𝑜𝑐𝑎𝑙 𝑚𝑎𝑥𝑖𝑚𝑖𝑧𝑒𝑟.

(−2/3, 2/3) 𝑖𝑠 𝑎 𝑙𝑜𝑐𝑎𝑙 𝑚𝑎𝑥𝑖𝑚𝑖𝑧𝑒𝑟.

𝑇ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑎,  𝑏 𝑤𝑖𝑡ℎ 𝑎 ≤ 𝑏 𝑠𝑢𝑐ℎ 𝑡ℎ𝑎𝑡  (2𝑥 − ) ℎ𝑎𝑠 𝑖𝑡𝑠 𝑚𝑖𝑛𝑖𝑚𝑢𝑚 𝑣𝑎𝑙𝑢𝑒 𝑎𝑟𝑒 𝑔𝑖𝑣𝑒𝑛 𝑏𝑦∫
𝑎

𝑏

𝑥2

𝑎 = 0, 𝑏 = 0.

𝑎 = 2, 𝑏 = 2.

𝑎 = 0, 𝑏 = 2.

𝑎 = 2, 𝑏 = 0.

𝑎 = 0, 𝑏 = 0.
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